Учитель: Афонина Наталья Андреевна.

Идентификатор автора: № 231-755-532

                                                                                                                      Приложение 2

Тексты вариантов.

	I вариант
	II вариант

	1)0,2 – 2 · (х + 1) = 0,4х

2)
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3)  2х2 + 3х – 5 = 0

4)  4х2 + 20х = 0

5)  4х4 + 3х2 – 1 = 0

6)  3 · (2х2 – 7х + 5)2 – 7 · (2х2 – 7х + 5) + 2 = 0

7)* дополнительное задание

       х3  - 4х2 + 3х + 2 = 0
	1)0,4х = 0,4 - 2· (х +2) 
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3)   5х2 - 3х – 2 = 0

4)  2х2 - 32 = 0

5)  х4 - 3х2 – 18 = 0

6)  3 · (2 – 7х – 3х2)2+ 11 · (2 – 7х – 3х2) - 4 = 0

7)* дополнительное задание

       х3  + 4х2 + х - 6 = 0

	III вариант 
	IV вариант 

	1) 4х  - 5,5 = 5х - 3· (2х – 1,5) 
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3)   6х2 + х – 1 = 0

4)  х2 + 6х = 0

5) 2х4 - 3х2 – 2 = 0

6)  6 · (0,8х2 – х +0,2)2- 5 · (0,8х2 – х + 0,2) + 1 = 0 

7)* дополнительное задание

       6х3  - 31х2 - 31х + 6 = 0
	1)4  - 5 · (3х + 2,5) = 3х + 9,5
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3)   3х2 + 2х – 5 = 0

4)  3х2 - 27 = 0

5) 3х4 - 8х2 – 3 = 0

6)  6 · (2х2 – 7х + 2,5)2+ 13 · (2х2 – 7х + 2,5) - 5 = 0 

7)* дополнительное задание

       х3  + 2х2 + 3х + 2 = 0
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